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Ans : C. 2 PS5

Read the following passage carefully and answer [(q.26-30]
“My God, it speaks” uttered the Emperor and the

receiver of the telephone slipped from his hand and
banged around. At the other end Alexander Graham
Bell was still on line at an exhibition in Philadelphia in
1876. This strange instrument known as telephone was
to revolutionize life in the years to come.

Bell was born in at Scotland. He was a teacher an_d, was
dedicated to the noble cause of helping and teaching the

deaf and the dumb to hear and speak before going to
Canada in 1870 for a serious illness. He, thereafter,

moved to the USA but continued with his work by
opening a school for the deaf and the dumb. _

Bell was fond of scientific and mechanical inventions.
While at Boston, he tried to communicate through metal
wire. His companion in this work was Watson. Watson
was taken by a pleasant surprise as he had heard Bell
clearly through his instrument. The instrument was a

Graham Bell, apart from being an artist, he was a kind
human being, ready to help the needy. He estabh%hcd an
institution for the deaf and dumb children. He died In .1922
in Canada. The entire northem America paid him a tribute
by hanging up their telephones for a while during his funeral.
The teaching activity undertaken by Bell was

considered ‘noble’ particularly because-

A. He was teaching the physically under privileged persons

B. He was working for the betterment of the deaf

and the dumb

C. He established a school for the deaf and the

dumb- the first of its kind _
D. He was a very famous scientist of his times

It : Passage 9 Specific 3w T w1k Bell 1 deafl @ar
dumb @ Helping @ Teaching 702 How to hear end
speak | S 18 & SRFA Betterment <3 SR 31 T0X |

Ans : B.
The words uttered by the Emperor suggest that

he was extremely - |
A.amused B. shocked C. surprised D. excited

it : “My God, it speaks” IR T8 Emperor 99 T[S
¢tz Receiver Bt #@ T/ | Joar f&f (Emperor) SHF
@& Surprised (S31%) 23f&A |

Ans : C.

m What according to the passage was the

contribution of invention of telephone?

A. Interaction between two persons at some distance

was possible
B. Rich people were able to communicate with others

C. Graham Bell wanted to use the same technology

for the deaf and the dumb to communicate
D. It revolutionized human life

PiOT : Passage 9@ 391 Wie- This strange instrument
known as telephone was to revolutionize life in the

years to come.
Ans: D.

Which of the following made Bell invent telephone?

A. His activity of teaching

B. His service to the deaf and dumb

C. He kept interest in scientific inventions
D. Encouragement received from Watson

T wiftsi wgeifte swEke |
Ans : D.

IO - Passage 9@ T41 Witg~ Bell was fond of scientific

and mechanical inventions. ©R =R tTEfE e
G wieEE of @Em fE wied Wz 11 @e

Choose the option that best expresses the idea
the word ‘revolutionize’ used in the passage -
A. Affect adversely B. Develop gradually
C. llluminate completely D. Change drastically

nfl

| years to come.
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Change drastically- <o fié+ ficn =
Ans:D. |

TR0t : Revolutionize (We +fieeq ey wPH) life in the

success and Bell patented it.
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E Your performance at work is not exactly—

M : Sentence €Tt combine AT WGH- |

A Sﬂ'alght from the horse’s mouth Thomas Alva Edison-developed devices that greatly

B. P“Slllmg the envelope influenced life around .:the .world, including

C. straight and narrow 'phnnngraph motion: pxcture camera and the electnc

D. a bag of bones light bulb 3" .

JYt: Straight from the horses mouth- T¢-eFgemize | | |Ans:B.” . - .
Pushing the envelope- sweaem famaan - A flawless half moon
Straight and narrow- R e Sfea aRam . P) perfect blue sky '
A bag of bones- f5ev/@izsfes | . g Q) floated in a
Ans : C. ige ials R) our goodbyes
Rewrite the underlined sentence keeyfng the meaning i) EHII’]S? mu;m;gg: salﬂc PSRQ D. QPSR
unchanged.
. Onﬁr hard working students will succeed Only- TNL: Sentence wa cnmblgeﬂmm-

A. students working hard will succeed $ ﬂawless half mncrim ﬂnat{e;;l} {;ﬂbaﬂzerfeqt hlue Eky on

B. those students who will work hard will succeed A: SmuIr)n m,-g; we: e s Y

C. the students hard working will succeed '

D. the students working hard succeed - F ill in the blanks [ Q 3?"39 / . |
1+ Sentence 77 T - v v 3 e ! When the judge entered the bailiff ___ to greet
‘ﬁlﬁwﬁrﬁm 1 him. A __ by any other name smells just as sweet.
A i et ; A.stoodup B.rose C. forgot D.swect pie

it S A TP e I : Rise <7 past forr 'z~ Rose 7R &4 A get up |

Choose the best option to make a pair matching the | |Ssafics: Rqse G3f6 =T A ®=12 Fill In the gape «
air given on the left in the following question. rose I sentence. & tsrnf-qff il
Engender : Produce :: Reduction : ? | Ans : B.
g g‘;ﬁ;:: g ]:E)E:snetrflble i If the wind in a trupical depression exceeds this
- _ speed, it is —— to a ‘tropical storm’ and a
101 : Engender- OgS 2@t 5/ Produce (Beom= =41) personal name.
Reduction-& =41 ; Deplf:tt {‘Eﬁw mmm

_ A. demoted, awarded B. consigned, gifted
TRy w Synunymuus - 4 C. upgmdcd, assigned  D. elevated, presented
Ans: C.; ' - 3% -2 5 ‘i Gt : Tropical depressmn #fe Sfear 2w, ©f Tropical
Identify an ﬂpprﬂpnare mbmmﬂun storm @ TS (upgraded) Z# @R w¥ ey 7w 4w
EEll After the sepoy revolt of 1857, the Queen (ﬂSSlgDEd}ml‘lﬁﬁlﬁﬂW (©) Perfect.

decided to grant a general pardon to all soldiers | [ Ans': C..
involved in the mutiny except a few who had

If markets were so —-- why is the east providing
played pivotal roles. _ a massive --—-- for agriculture.
A. Exml:nptmn B. Discharge A. sundry, help B. productive, support
C. Reprieve D. Amnesty C. efficient, subsidy D. successful, coverage
|| =0T : Grant a General Pardon- STt 1 T I 1 IR : - Sentence BF wE WOE- - WET IR
Exemption - SR1efe/1f% | A ey -(Eﬂ]ment) TS IR ©EF (Subsidy) Ao 1@
| Discharge- 2Fii/afe | T If markets were so efficient why is the east prnwdmg
Reprieve- ®if% fafis =t~ e a massive subsidy for agriculture. "
Amnesty- Wﬁﬂmﬁw wufmema w0 | | Efficient- weermrten

|| Ans : D.

ey Subsidy- ‘Eﬁfﬁ/ﬂwﬁml
Mﬂkﬂ meaningful sentences using l‘ﬁe SJollowing s

iumbles [Q. 35-36] Pin point the error [Q. 40—#‘2]
Thomas Alva Edison Il The menceﬁprmect was equally su;cessful
P) influenced life around the world, including .
Q) developed devices that greatly the sufmrgre project they had presented Dresented.
g)fl Phonograph, motion picture camera o (B) €% 50725 successfal/as |
and the electric light Ut - '
A.RPSQ e hlllii]bQPRS ey, The Science project was as successful as the
C. PRSQ software project, They had presented.
D. RSPQ AndB




A B
which of any two tasks
C
he will do first, will ultimately do either.
D

it : were (D) 0 will ultimately do neither 23 |
Either I each of two or both TﬂTﬂ |

Nmther T not are or the nﬂler?ﬁﬂﬂ |
Ans:

The method supggested in the lecture enables a
student to learn more quickly and to have
remembered for a longer period of time.

A. The method suggested in the lecture

B. enables a student to learn more quickly

C. and to have remembered for a longer period of time
D. no error

IJNRL: to learn a'ﬂﬂrcﬂ to rf:manbeﬁ:ﬁ !

Ans: C. -

Change the speech

FR]l The traveller enquired of the potter if he could

tell him the way to the nearest inn.

A. The traveller said to the potter, “Where 1s the
nearest inn?”

B. The traveller said to the potter, “Can you tell me
the way to the nearest inn?”"

C. The traveller said to the potter. “Which is the
way to nearest inn?”’

D. The traveller said to the potter, “Can you tell me
where is the nearest inn?”

It : Interrogative sentence I Auxiliary verb (do,
does, did, shall, will etc) 15 ‘EIEIE ¥, SRE. that 711
3fsm iffwhether F91It® 2W | 9T,

Indirect : The traveler enqmred of the: putter 1f he
could tell him the way to the nearest inn.

Direct : The travelersaid to the potter, “can you fell
‘me the way to the nearest.inn"? T IR e
Ans:B. . _
I. The rich shuuld not quk down the poor.
A. at B. for
C. with D upon

301 : Look down on/upon- g 3 |
The rich should not look down upmi the pﬂnr

Ans : D. .

P The rain poured down in sheets agmnst the window.
Roberto could not see anything outside.

How are the two sentences related?

A. The two sentences create a contrast.
B. The second sentence locates the first in Space.

C. The first sentence establishes the cause of the second
D. The second sentence provides an example of what

is stated in the first
Tt : The first sentence establish the cause of the second-

I, GAPICS 3fReTeR & Roberto IR IR (1S AR |
Wﬁﬁuw:ﬂmmwﬂﬁmﬁﬁwm

| Ans : C.

e

i i | 0 0 )

FIR A boy who is constantly hesitating about

i Latoya strongly dislikes boastful people. She
detests anyone who brags about personal
accomplishments or possessions.

How is the second sentence related to the fi rst?
A. Tt classifies what is stated in the first sentence.

B. It contradicts the first sentence.

C. It draws a conclusion from the first sentence.

D. It clarifies the first sentence.

It -+ It Clarifies the first sentence, TR QYN

Sentence @ ¥R &7 dislike ¥ boastful people =
ﬂﬁtﬁ '?tt-'q'ﬁ Sentence 9 clear FHE 1 (FHq bﬂastﬁxl |

An _ L S
The existence of civilized cummumhes, however, is
impossible without some element of force, since
there are criminals and men of anti-social
ambitions who, if unchecked, would soon cause a
reversion to anarchy and barbarism. Where force
is unavoidable, it should be exerted by the
constituted authority in accordance with the will of
the community as expressed in the criminal law.
The author of the passage probably assumes that -
A. prevalence of anarchy is the distinctive feature
of a society.

B. criminal law expresses the collective will of the
community and preserves peace in society.

C. existence of civilization is synonymous with use of force.

D. law prevents crime and criminal activities
Mt - Criminal Law tef2 =9 SR qﬁﬁrﬁ ‘mm il
mﬂmﬁﬁrﬁ@aﬁﬁﬁamml e e
Ans : e Bar Al At o B
48, Chuuse the correct spelling -

A. preremptory B. perremptory

C. preemptory D. perematory
‘_ﬂlﬁﬂ Correct Spelling': | | % 0 ]
" Peremptory- qﬁfﬁs@ e Palatable- %foa4 |

Para]lel— ‘-Hﬂﬁﬁlﬁ 1

','_Paésiﬁnate- éﬁﬁ TR |
Ans : D.’ Bilay £ g

Improve the underlined part ﬂf rhe sentence.

In case of sporting events, our employees are
allowed watch the matches during breaks and
we have even designed a game format where
employees submit their predictions.

A. During matches =~ B. When matches are played
C. During tournament D. no improvement required

It : Sentence B W@ o wiet- ﬁmﬁﬁlm
Tﬁﬂmﬁmcﬂlﬁtcﬁmwﬁmﬁwt L kS
Incase of - aﬂwm:m |

D. ;- ey .
ﬁmAIthuugh he is sﬂ:tmg for the exam tlus year, I
get the feeling, he is
A. sitting on the fence
B. stealing someone else’s thunder

C. not playing with a full deck

D. keeping his friends close and enemies closer

IO - Not playing with a full deck- (Not mastery
sound) TFFFSI 5 7 |

TSR, *FIE not paying with a full deck #73 |
Ans : C.
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&_General Knuwledge and Aphtude >

B Which of the following upheavals took place in
Bengal immediately after revolt of 18757
A. Sanayasi Revolution B. Santal Revolution

C. Indigo Disturbance D. Pabna Rcvnlutmn

w.ﬁwﬁﬁmw .
AR T3 REEMTR Sra90-3vbre
EZ i Mraq
AT [Rmiz ' swee |
Ui oI /A (R | Sbea-Sbux | . .
T[Fa @ TPe AR 3qe¢a-Svoo | ...
RS i o8 | .

Ans:D.

BY Who is the painter of the Girl with a Pear] Earring?

Consider the fullnmng cuuntnes thruugh which
the tropic of Capricorn passes?

1. Australia 11. Namibia
111, Bra_zil iv. Chile
A.1ionly B.nm&iv C., & D. 1,1, m1&iv

|| 3t : IFq@® @3 (Tropic.of Capricorn) 9148 W3fF®
TR - ST e, e, wrﬁﬁm wrnﬁﬁm mwwm fofer )

AnsD

| What is the furmcr name uf Bangla Academy'?
A. Ahsan Monjeel B. Chameli House
C. Bardhaman House D. Bangla Bhaban

YT : o T qTER 2AfSdt TW - dvee AETT © BN |

o TN o MR AYFTAE T IFTSIA IR
Ziow"” @ IE ISR T MdT Zie =

o “siTNa RITE " mfﬁmﬂ(CIRDAP)wwfmu

-:.ﬁmaﬁ? = 3038 Wi‘ﬁl ihﬁ?ﬂﬁﬁf?:}niaﬁﬂﬁﬁi

Ans:C.’
EEN 1024 bytes is equal to-
A.1KB _B.MB C.GB D.TB | .
T : o 5 FEARIRG (Kb) = Y038 F130 |
e 3JR6 =V 75 | * 5 CTIRIRE = Y038 fFTAZG |

Ans : A..
. Which ﬂmnng the fullumng issues Two Taka

note in Bangladesh?
A. Bangladesh Bank B. Ministry of commerce

C. Ministry of finance D. Ministry of home affairs

| TI1 : & AR ISUNE » YA IOS B B SR-
(T @G- U6 qRFTTHR @G- o)1

o TSI off G - 3, X 93 ¢ B EG |

|| o Tfd GG =54 AT - wd AfvrEa

'Wﬁﬁbﬁmbﬂ R0, ¢o, Yoo, &m%buuamﬁﬁl

o T (HIG AT ITIA - wwmmma :

Ans: C.

B3 When was the military rule established in Myanmar?
A. 1960 B.1961.. C.1962 D. 1963

TiL = @ Y58b FAE NTFTR TRl 1S I |
® SHY3 T W FEFEIE TS Sl F9el W 9E |
o Sobo HITH AMES SiSl 24y 457 77 |
Ans:C, '

| What is the position of Bangladesh in Global
Cumpetltweness Index of World Economic

Furum in 2016-20 17? &
A. 137 B. 99* C. 111* D. 110

TG = k033 Y TRAST TR amifie Ty TS e
QAR TG & - So T | .
Ans : Blank.

E! ‘Satayagraha means- |
A. Truth and faimess B. Soul Force

C. both (a) & (b) D. neither (a) nor (b)
T = o “TERNR” TR TN A e a3 R uaR
SR SICAETT LA |
o TG SR (ST Shwo AN FIT HOTINZ ©F T |
Ans : A.

A. Johannes Vermeer B. Rembrandt
C. McNeill Whistler D. Gustav Klimt
Tt : et afmE @R SRR Swue The girl with
a pearl Earning 71ty @ Pt e 3w |
Ans : A, 3
m Which endangered species is found in the

Sundarbans? ‘
A. Irawardi Dolphins B. Royal Bengal Tiger
C. Pantheratigris D. All of the above

I : o IS 2O TAreH, gt MA@ TWE @A

BRI 734 &R fFegfen s W
Ans : D.
(30 If ‘air’ is called ‘green’, ‘green’ is called ‘red’,
‘red’ is called ‘sea’, ‘sea’ is called ‘blue’, ‘blue’ is
called ‘water’ and ‘water’ is called “‘pink’, then
what is the color of grass?

A.Green B, Air C.Red D.Pink
[T : @RS grass 97 Color, Green WA qX¥ Green i
Called red ©12 answer (C).

Ans: C.

m A farmer had 17 cows. All but nine died. How

many were left alive?
A.0 B. 8 C.9 D. 16

T : SR N FAT RIS w16 AN A1 7D 91 TA O |
Hedle, Qe Fd 72371 50 |
Ans : C.

Which of the following is currently not presided
over by Bangladesh?
A. South Asian Federation of Accountants
B. South Asian Regional Standards Organization
C. Inter Parliamentary Union
D. Amnesty Intemational

Ans : TR |

Which of the following symbolizes the
reunification of East and West Germany?

A. The destruction Vasan Palace.

B. The Treaty of Westphalia

C. The fall of Berlin Wall

D. The Fall of Bastille Wall




JAL : wﬁaﬁmﬁﬂwmﬁwmmw
“FifEw oramE” e Rt gm

o AT VTR 1S T - » TSI SdbD |

o IER M siera WY fy WR wifN uIfis 7@ - ©
BT dddo |

Ans: C.

@. Who was the king during the French Revolution?
A. Napolean B. Louis XTIV
C. Louis XVI D. Philips

JiYT : o T [ WH® 2 - d9vd AT |
° SN FITA At oo - Ao 93 |

° TR RAA s - 0@, 7wet 8 =rey (Liberty,
Equality and Fraternity) |
Ans : C.

@3 Who among the following supported the French
Revolution?

A. Russo and Voltaire B. Plato and Russo
C. Montesquicu and Russo D. Locke and Montesquieu

TR : o EAT YW &R FTAFT wriRE Tk R
TR WA FRIRE O IER- F0N GRSETSTR L
o CLNFTEmGs 3o 2 T Rea ey

Ans A.

i The process for the removal of the Premdent of
Bangladesh is known as-
A_ Imposing criminal sentence

I B. Deportation

C. Impeachment

D. Golden Handshake

T : o FRYR T I ST TWMGACE T IFNACT
g ~ifen eI 3t 2SS (Impeachment) &3 [

o FLIYITTA ¢ 4= STAW A=A wﬁ\mww | v

|| Ans : C. i

m Five persons - A, B, C, D and E are being cnmpared
' in weight and height. The second heaviest person. D
is the shortest. A is the 2nd tallest and shorter than
E, The heaviest person is the third tallest person.
There is only one person shorter than B, who is
lighter than E and A respectively.

Who is the heaviest person?

A A B.B C.C D.D
T1 : &Y -
HeightRank [ 2 [4 (3 |5 |1
Person - A|B|IC|D]|E
WeightRank [ 4 |5 |1 (2 |3
e Most Heightest - E
e Most Tallest - C
Ans : C.
[T The term “Whitewash” is associated with -
A. Football B. Hockey
C. Cricket D. Lawn Tennis

‘ - In whu:h }'ear was the Pulltzer mtrnduced"

mm,wﬁ
4, IFRE, o

S, O, QIR

T, AR, Foodaws
WWW T

| Rfemes
Alls C. '

| Amartya Sen won the Nnbel Prize for his
contribution to - _
A. econometrics B. development economics

C. monetary economics D. welfare economics

TJNT : o Sbdb FAT T weRISTS (Welfare Ecoriomics)
w6 ﬁﬁﬁl e sewam W Ermfl O TS,
.ﬁﬁqﬁmmwmmﬁﬁmmﬁﬁm
|Ans:D. = F

. Who is the authnr uf “Iudlan Parlmmentary
Democracy”?

A. Meira Kumar B. Deepak Nayar

C. Axun Thiruvengadam D. Raghav Bahal

e, e “Indian: Parhame:ntary Demncracy ﬁi‘ﬁﬁ
e U N ‘Gupta. . e
l'e “Indian Parlmmentary Demncracy—
I’erspechve ﬁiﬁ?'ﬂ mw- Mmra Kumar e
Ans: A A T e R |

Spsakers

A 1917 B. 1918 C.1919 D. 1928
Iw o offfEETR TFR ST OF T0- SvSAATT -
wﬁmﬁwmﬁmwmi :
mmm m@wﬁr-ﬁ wrrrim ﬁm -
Ans : A, AT |
. Who was the l" rst Amerman pres:dent to lwe in
the White House?

A. George Washington  B. Thomas Jefferson
C. John Adams D. Abraham Lincoln

[T mmwmmw
TS @ A e weT | -

. mmﬂmwm%ﬁwmﬁhmﬁmﬁ T GO |

mﬁﬁmﬁmmwwﬁmmmm
TR TR |

Ans: C.

Bangladesh got the registration nf first geugraphlﬂﬂl
indicator for-

A.Jamdani B. Hilsha C. Handicrafts D. Fazli-Aam

IR : » IRFICH 2R (Steifera R (GI—Gengraphmal
Indicator) #7 Twify |

o &8 it fwfer spoy - Bfend |
Ans : A,




United States president, Donald Trump, made :
his first foreign tripto- s RreuEm (F Unit)
A. Israel . Saudi Arabia _ 3 ]
C. Great Britain D. Russi Preeae : 2017-2018 [Set-2]

It : mﬁmmﬁmmmﬁcmww

G SRR 20 W6 20349 (T |

Ans : B.
The Permanent Settlement, 1793 was a grand e @G {7 T T1ne w2

contract between the East India Company in A. cral B. 7t C.ww D.7@@
Bengal and- IOt : oy oFEane MW @6, @, I, SIPoHH,
A. individual landholders of Bengal wfare, FovE, TS, 311‘;[::@, Rergie, 6, e19ifs T |
B. leader of landholders of Bengal Ans : A.

C. the Mughal Emperor

wmamm wr T3 B e |
D. None of the above A3 R

- R wetef @F T @R Refe:
it - @ IewRe A T SN IRy o w6 IHeuE 8 <
l' A. T U8, FETD B. ¢ uBl, 04 =
PR IS 230 JfST FIHH TR I AR N TR
mﬁmﬁﬂﬁﬁﬂﬁﬂmwﬁmwwﬁwﬁﬁ| C. et o), Ty D. SRt oft, FeR 10
Ans: A. i : » T “coiem/Resiea™ wial & g ©ed #Ahemt ot
' ' fFme QR TR & T e
(2 Who is the chairperson of the parlmment" ! iR I | @0 >
A. Speaker B. Chief whip ST ﬂﬂm"ﬂml‘sﬁilﬂﬁ ST IS |
C. Prime Minister D. President o e “w/eET w9 oo IW T onew oE o I
T < o TTETR SR 1 TGO T - FT T W"ﬂmmw AT o7 AT T QR a3 1
(House of the Nation) | | Eﬁﬂﬁ:TWl ' - - :
m@wﬁﬁmmﬂﬁmamﬁﬂﬁﬁw forf Ans;D. o ¢
o TSN AT 2T P11 - (I B3% | || 2 "Plﬁ @‘TWW‘I?

Ans : A, | A. 5/ B. fie C.75dR D.f=
Puerto Rico is currently — IOt : @ ANER {7 TRARGS M'Wﬁmﬁmm
A. state of the USA Wtﬂﬁﬁﬂwaﬁ| | .

B. an unincorporated territory of the USA [cLCE ﬁrﬁm(ﬁ%ﬁ)w °I'-§ﬁ!l|
C. a colony of Spain U bgs SO R - DA% I

D. a Caribbean nation  siep A TR - olden -
Yt : TEAE fafars e TEAIET et T 3 vl o 7 TR T - T 1

ez | Wt Unincorporated territories 09 | ATAT W Ans : B.

w7y American Samoa, Guam, Puerto Rico. ~ B we =ro= Cﬂﬁﬁr :
Ans : B. - A o=, @, ot B. g1, 2€if5, Reet
m Which of the following word cannut be formed C. Brtd, 7o), wd D. fdw, frits, ﬁm
with the word CANTANKEROUS?
A.TANK B.CAT. C.WATER D.NUT | |¥"0: “ﬂw'i" WTTW;“ -
It : A) CANTANKEROUS — TANK | . — = _—
B) CANTANKEROUS — CA T — CAT - qi W' E 5 Lli ;ii i 5 St
C) CANTANKEROUS — AT ER — WATER ‘w’ : A N el A
missing A7 | onfds | 7wz ﬁ%‘i STFHAE | Ay |
D) CANTANKERQUS — NT U — NUT ﬁn%rgﬁﬁ e -
ﬁnﬁnﬁ;erhal reasoning- A. TS R AR | B. A 9o (il |
Problem Figures C. ez Prea ﬁf'i:‘“ D. CT (ZFYIF 230X |
M0t : eFRE FTF0 TG I TEAR: _
! Nkl )
: ZITS AT CATATR | TS 7 (AR | |
Answer Figures < ST W72 3640 W 1% 1 | SR SR 140 57 % )
| ] B o TR 3 oS 2R
Ll - A7 S WA | A1 B A | '
A B o C D O PPl @ G | | CHCo il e R 1 |

Ans: C. Ans : A.




S R | G ETE

T A crent’- eI Fw 7 QR zme

A. o3 &g B, wesa C. Iv 77 T D, e s
T : ATAEATH IEIH IYR-

o 0 IS (ram - It T T4

» TE TTGAT - WSS WNS |

® W& IS - WA |

o UMY - *rHeifeg |

o TR 1Y - Ay

Ans: C.
0q. Y T *WiT I 75412
A. Tz B.ozt C.32t D. Jetien

I : T AT e g we-
o TSR T &9 Sitaa Fofiet - 2 |
o FE14F oW TB1 IR - TN (doft) |
e b BT - FF I FATH ST |
o TPtV WSS TZNCIAIH T2eW i |
o T WIRTSS T - (PR AR (T, Shod HIET

o SAITHA AfACTE I2 SRR AP T - S5d A IFT
AT “ifTaw A |

Ans: C. _
otr. e & TR 1MiFe - TSl FH?
A. oot B. o551 S
C. &= coigat D. *manm @

I : RYTS TR NS @ TYfo-
o SfEifs Tfe Ta2 THfFs'- aw G | |
o "SR TS (T ATF 04 SIS - OHEry A G4 |
o ‘affra cfist @ AT (TR ICER A,

ST W STl RS 9ed T 410 e ey |

o ‘A2 (U 43 Em/ama I i 1 |
ST A & - v |

o ‘A AT TR it MowEe - Hﬁl’ﬂ'ﬁﬁﬁ’[*ﬂﬂmﬂ

Ans : C,

‘oftoF R TR'- A AT Fo -

A, = B. 3= C.ge# D. el

T : TGN FEAIO TIIUT GF-

l o (5171 T4 268 - FE&1 |
-WWW-W

-mqﬁﬁﬂﬁm=w

lmmﬁ@:%ﬁﬁlﬁ

o CIT6 9P 20l = feenfam

o (P[TS 2W&] = Hl

-me=mw

Ans : C.

so. STRAMI FACH @F YW S GRr

A. T B. W= C. GFany D. =&l

'Wﬁ OGS W |
Ans :

83, wwwmmmwﬁm
A. SEGe B. ‘ﬂiq{‘ﬂﬁﬂ%
C. tnm e D. Sig#

T+ @ YLt e RS e Yo T - MR TR A |
o foff S cwEr’ FTara Fofet |

e B9 M7 ‘Josef and his brothers’ 2% a4 T
B W 1{m |

o 1% TR FoNT 97 & T - ST 38-3¢ ¥OF |

Ans : B.

2, Fen @R Ramis’ Te37
A. 99 B. Jzaited S
C. IG% A D. el

[T : maﬁmwwmmww
TN, TR, TG efE, T 8 WA, PR,
s, Tfeet, veHee e |

Ans : C.

yo, ‘Sfy-AhiE BEE SRS, FE 4397 (5 - waﬁsw

A. @HAMA B. ©lf©by

C. cstifE=mm D. vare
[t - ‘Hﬁmmﬂmﬁmﬂﬁﬁwwﬁmm ‘G
mwewm .
-ﬁWWWWﬂWWWGﬂﬁﬁ_I
-ﬁﬁﬁﬁ‘iﬂﬁﬁﬁmﬁﬁlﬁmﬂmﬁﬂﬁ*ﬁl ,
-'ﬁﬂﬁﬁaﬁﬁqmﬂmﬂﬂrﬁm=mﬂﬁmaﬁ

& —l‘ﬂaf%‘aﬂﬁl

Ans:A.i " k

58, ﬁmmﬁwwmwr
A. TR 77 B. 2%© ¥¥
C. @i 7= D. 78 &9

P! : TS AR T R - T T, S %A ‘ﬁﬂgﬁfﬁ’t

wwtﬁﬁrmﬁmmﬁwmn

AnsrA.

S¢. ot R 517 910 ST &t G-
A. SfoT] 1o - B. feieret
C. et geiw D. $#itaq 7qa o

[T : ﬂﬁﬁwmmﬁﬂﬁms}mtacuc

stmcmrcsﬂﬁﬁﬁ*ﬂﬂmﬁﬁ“mﬁﬂwwml

ﬁw WWW:%WWWWWW
"R Ia- T | SRS IFES SEretga

wmwmmﬁm |

Ans: D

%ﬂ‘ﬂrﬁ’wwﬂ' @mﬁ%%wl .
T o - BeRte, B |
‘ﬂ“ﬁ*ﬂiﬂ%mﬁm, .
RRISS BTG, B o |

ﬁr-mw
Ans: C, %’E‘E‘I*T W@W)'




ORI O3 (- QA ‘(O TS G S0 TR TRy
A. s B.wePweet C. s D, Ter

L : T AP -

o vyl wd - FCFHOT! CATH T |
o WISFAFe! Wt - (R (T (T |
Ans: A.

LURA (KL w1 7w |
A.3@e B.Reme C.9was D. o s

W=WWW~

_ o TS WG T SIS 7R I - e o Rk el 3w
o (FT5 TG T2 - 74 SFE T4 |

[| » == st - Fovnef el

o 513 #FFE B - WEEE |

» STIR 78 - wrda -orew |

Ans : D.

¥s, FOMMIE IR IR’ SEeE= &
A. 7IF 31T B. =i varaey
C. IR D. =it e

1YL : @ TIPS TR I’ IR - g7 8137 |
J ° P FOMM EAFHRIEGT 641 LA |
lﬂﬁmﬂﬂm-mﬂﬁl
® JT HSMM IHI "Wl Wi aufiet |
Ans : A.

‘ot oY G e
Afferr B.faeme  C.w@m D, ot

T : et 6D Retw : o, e, A<, vt W

|| iRt Ret - w7et, s, troaiR, wet, 328, w1

FEIHS RO : o1, vy, o7, I2, ST, Fe09, T |

S I]I5% RO : @, @iy, SR@H, g, o1, @, 739

ST Rotg: Sagad - a5, O, 9, C‘Hﬂﬁ‘*ﬂﬁ‘ﬂ:ﬂ.

wifoatse ATy « TFE, o, i, AR, e, 55, 2w ||

T 25w
| Ans : A.
WIS RN FIeITR- R ICF (I farul WITRe
A. 19 yrga fasm B. Qi< fam
C. firg femm D, erarss et

I : [{orm, [Reted g3 @EE S@EE A| o
AT (W1 41D i3S Zq Gt ‘THYe’ 96 2 |
- WS (U1 + ot (efomw) > @ (A4rg) | T4- Fres
BT (qIOEE | |
STRASIE - NS AN IATACE, | (FFGS S4T)
Ans:A.

N Ry’ fore ‘R Somf 1 wed I3q97

AR B. Rem C. 33 D. sifexm

YR : RS R TR -
Rt : Rye, o, ReA
W g : 37, e, e
Rerlie st wnd : el o, Ram
1 W+ fsae, R
Serey wee : o, Refn
Ans: B.

|| F:2017-2018 (299)

‘St Sifer @ 90T TS T G - QU I T JIRE

T TER?

A SRt B. W C.w ot D. w3’
T = ST A G e S IR O A 0K I
SE 7 @R THTSIE TRIRY ST I T3S 24 |
Tvrzad : o wf, f& fg, evet, o 2o )

(- SRl WS @ 708 T G CFIo |
I e SRS W)
W= T A SIS 73 30 |
Ans : C.

38. 6T (Ode) WM Mol T
A. TgVER FIeRE B. J&or 145

T mtmwﬁmmﬁwm{ﬁwwaﬁlww
TENIT FIASIEITS g GTeH FHIA 6T TH |
CTT: FTSIF 7, wwﬁs«nﬁha{% Wﬂ'ﬁﬂ“qﬁﬂ
Ans A,
' P ST ST W 9 - G 90 107

A B. =fo C. @i D, %3

T : o THe I TR 19T fota o B -

mmmﬂmﬂﬁﬂﬁmﬂﬁmﬁrﬁmmwwn

ww a..... mm ., ﬁﬁ ..... fefq, of.... =@,
il o oy ;
TR ST T mm .. (BT B9 |
-cﬂﬁwwﬁmmﬁwm- |
W2 I SO, S e, s, R R
I ST WA TE AT, @ g, R, e, 1, o,
_nﬁﬂ R, W41, WLy, wife, e Tenfi
-w%mhﬁﬁmﬁmmﬂﬁimwmnmmw
ﬁﬂmwwmwwwlﬁaﬁwu
mﬂmwmiﬁﬁﬁwl' | |
Ans : B,

English

Read the following passage carefully and answer [Q. 26-30)].

The population of the Bengal delta has always been
remarkably mobile. This has often led to tensions between
the termitorial rights of the sedentary people and the rights of
mobile others. These tensions revealed themselves in
multiple moving frontiers and a dynamic economy. The
Bengal delta was never an isolated place. On the contrary,
one of 1its basic features was its openness to both the
immense expanse of the Indian Ocean and an enormous
hinterland. For as'far back as we can reconstruct, it was
integrated into networks of long- distance trade, pilgrimage,
political alliance, cultural exchange and travel. It served as a
gateway to the wider world for people and goods from the
landlocked Ganges plains in the west, from Tibet and Nepal
in the north and from the Brahmaputra valley in the east.
Conversely, traders, Buddhist pilgrims, political emissaries
and adventurers who wanted to visit these regions had to
pass through Bengal. It was the coastal waterways of Bengal
that South-east Asians, North Indians, Sri Lankans, Chinese,

Arabs, Central Asians, Persians, Ethiopians and Tibetans
met from very early times.




According to the passage, which of the following
was a basic feature of Bengal delta?

A. large number of sedentary people

B. openness to not only the Indian Ocean but also
to its coastal land

C. openness to the immense expanse of the Indian Ocean
D. a dynamic economy maintained by the virtue of war

Y1 : Passage 9 9911 Wtg On the contrary one of its
basic textures was its openness to both ..... hinterland
Ans $iC

§ Which place of Bengal allowed people from all

over the world to meet from very early times?
A. the coastal waterways B. the plain delta

C. the hinterland D. all of the above

JROT : Passage @9 ¥ g9 It was the coastal
waterways of .......... met from very early times.
Ans : A.

According to the passage, which of the following

networks was Bengal delta not a part of?

A. exporting weapon B. long-distance trade

C. cultural exchange D. pilgrimage
i1 : Passage 9 9911 9wk For as far back as can
reconstruct, it was integrated ....... exchange and

travel. 998 exporting weapon s A mrm Bengal
delta @9 network. .

Ans: A.

PL1 Which of the following can bE inferred frnm the
passage about the sedentary and mobile population?
A. tensions between these two groups of population
led to degradation of economy

B. territorial rights were the source of lension
between these two groups of population

C. tensions between these two groups of population
were mostly about religion

D. the mobile population were larger in number
than sedentary people

. BT : 37 sentence 9 = W' This has often led to

tensions between the territorial night....mobile "uthers
Ans : B.

. The Bengal delta [lul not serve as a gateway to
the wider world for-

A. the people and goods from France

B. the people and goods from landlocked Ganges plains
C. the people and goods from Tibel

D. the people and goods from Nepal
gt : 9% sentence 9 I SR It served as a set way....

in the East,

Ans : A.

Ideuru’jv an appropriate substitution [Q. 31-33].
| He was guilty of rudeness that could mot be
tolerated-

A. rudeness that amounts to be tolerated

B. intolerable rudeness

C. rudeness that 1s tolerable

D. such tolerable rudeness

jumble [Q. 36-37].

10t : Intolerable rudeness %@ AN TR O TE 7 | |
TR TS 7Y ©1R W (B) ’[Fé?ﬁ |
Ans B. |
A speech delivered without any prior preparation-
A. Narration B. Argument
C. Dialectic D. Extempore |
™ : Extempore- T, agel| wdis A speech
delivered mﬂmut any prmr preparatlm -
Ans:D..
KRl Being stuck on ruad for traffic jam Daniel lost |
his patience and proceeded to __.
A. face the music  B. strike while the iron is hot |
C. read theriot act D. take a dive
M : » Face the music- 3087 TR 671
e Read the riot act- %1 1S &) Tﬁmﬁrﬁm A IRCEH
W%mmwmwl P
e Take a dwe-ﬁm WWWWWM
S0 ﬁ‘gﬁ | | . _
Ans :°C.! : e , |
Choose the best option to make a pair matching the pair
given on the left in the following questions [Q. 34-35]
Ballast: Stability, Asylum:?
A. Refuge B. Mason
C. Roof D. Soporific
ot : Ballast. (ﬁﬁmw_ﬁrm GFF{ “'nfdﬁ?rifj)
faa TR Stﬂbl]lt}'“ﬂ'ﬁ'l T,
As}rlum (ﬁi‘lﬁﬁ E‘Ei'ﬂ) 9 Re:fuge (W!’:i‘ﬂ ﬁlﬁfcﬁ) 'ﬂ’ﬂ =
‘Ans: TR
Fluud Famine, Starvatmn ¥
A. Malnutrition B. nourishment
C. epidemic D. enrichment
amm Flood (37711) ﬂ % Famine (&%) =81 -
Starvahun (El?riﬁ) e IFn'ﬁ‘[ (Mahmmuun) TR =W |
Ans A.. ; . .

Make meumngfu! sentences using the following

One cannot recall any movement -

P) which has gripped the imagination of the
entire human race

Q) in world history
R) which started nearly twenty-five years ago
S) so completely and so rapidly as the Green

Movement
A. RQPS B. RSQP
C. PSRQ D. QPSR '

YR : Sentence combine FAE MiLig—

In world history which has gripped the imagination of the
entire human race so completely so rapidly as the Green

Tuvm;:nt which started nearly tu.renty—ﬁve years ago.
ns : .




i s | v -avis oy

You’re obviously wrong, and not for the first Having received your letter this morning, we are
writing te thank you for the same.

A. Having received your letter
B. this moming, we are writing
C. to thank you for the same

D. no error
T : WS AR (ST B8 (oIt @3, 93 I O

yraty ffez | 9% oed Sentence BT @It @& (21

time....
P) all by yourself-you needn’t imagine that

Q) you’ll have to walk to the nearest garage

R) and because of such foresight

S) I will keep you company

A.SRPQ B.RQPS C.PQRS D. SRQP
it : Sentence combine T WIGI—
You’re obviously wrong, and not for the first time
and because of such foresight you'll have to walk to
the nearest garape all by yourself-you needn’t
imaginc that I will keep you company.
Ans : B.

Fill in the blanks [Q. 38-41].
As a fearless _ , he always inspired confidence
in his goalkeeper.
The party shall win if you  my candidature.
A. prop B. back C. crutch D. endorse
UMt : As a fearless defender, he always inspired
confidence in his goalkeeper. ,
The party shall win if you support my candidature.
=7 50 back T9TA sentence 0 meaning ful 27 |

Ans : D.
All the members of the committee are
A B
kindly requested to appear in the next meeting.
C D
TN : Kindly 932 request 9% W &M 0 | B} Afv
redundancy S 9 |
Ans: C.

Change the voice.

He has a gut feeling that his brother may be |

keeping a secret.

A. He has a gut feeling that a secret may be being

kept by his brother.
B. A gut feeling is had that a secret is kept by his brother.

C. He had a gut feeling that a secret was kept by his brother.
D. He has a gut feeling that maybe his brother kept a secret.

[ : Passive ‘voice: 93 ¢F@@. may be keeping 9
9if& ¢ may be being kept TF |

Ans: A.

For marketing purposes, the automobile
industry might want to dust off its slogan |

“power to the people.” Detroit and the foreign |
automakers are in a horsepower war not seen |

Ans : B.
Ef] I would like to ...your attention to the last

paragraph of my essay ....to the terms of sale of

the goods.
A. consider, according  B. draw, pertaining
C. draw, regarding D. attract, mainly
It : Draw your attention - SCITIH SIFI 7411
Regarding - (FIc1 {3 |

Ans : B. since the muscle-car era of the 1960s.
Gabriel was charged treason. What does the second sentence do? {
A. off B. with C. of D. for A. Tt describes an effect for the cause stated in the

first sentence.

B. It explains the idea in the first sentence.
C. It draws a conclusion.

D. It provides an example.

IR0T : T Sentence bTS Q4T AT Idea (¢ BRI TN W= | | §
Ans : B.
Reggie often says that appeals from charitable
contributions make him depressed over the
plight of unfortunate people. However, Reggie
has never given even a dime to charity.
What does the second sentence do in relation to
the first?
A. It follows logically from the first.
B. It seems to contradict the first.
C. It draws a conclusion from the first.

Y1 : e Treason - RAGPNIEFI |

o Charge with - Sf&q® %21 - He was charged with forgery.
e Coincide with - 317 &g =1tel fra aneq |

e Compete with - 2fetariie] =1 |

| Ans : B.

The world was —- to the happenings in Syria,
America’s political class was — by the attacks.

A. watching, worried B. alert, concerned
C. vigilant, disturbed D. glued, devastated

it : Glued to the happening — o= Tl T AT |
Be devastated by the attack — STers @ 2en |
Ans : D.

Pin point the error [Q. 42-44].
The reason why he was rejected was because

A B
he was too young. ¢ D. It analyzes the reasoning of the first.
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The modern desire for wealth is not inherent in
human nature, and varies with social values. If,
by law, we all had exactly the same income, we
should have to find some other way of being
superior to our peers, as most of our craving for
material possessions would cease. Thus a general
increase of wealth gives no competitive
advantage to an individual and therefore brings
him no competitive happiness.

Identify the most logical conclusion -
A. A general increase of wealth results in increased
happiness

B. A general increase of wealth brings competitive
happiness

C. The modern desire for wealth derives from the
desire to achieve competitive happiness

D. There is no competitive advantage to an

individual in getting a geneml increase of wealth
Ans: C,

Choose the correct spelling -
A. exacerbate B. execerbeat
C. exacerbeat D. exacerbate

It : BR Correct spelling- Exacerbate, ﬂggravatc
Embitter, Madden, Irritate, buuthe LTS R e
Ans : A. » T GRS

Improve the underlined part of the sentence.
Despite record governmental spending on drug
and alcohol prevention programs, the number of
children turning to these harmful and addictive
substances remains steady.

A. Although the government is spending a lot

B. Even though the government is spending so much
C. In spite of so much money being spent by the government
D. no improvement required.

JRT : Wﬁw%mmwwﬂmﬁﬁﬁnﬂﬁﬁmﬁ
efferany T5H! | Fromg =fee ........... |
Ans : D.

General Knowledge and Aptitude

The means by which computer uses language to
process data is known as-
A. Rational B. Megabyie

C. Binary D. Processing
[T : o AEA Afors FEACEH 0 W | A F15 0

© QRIGIG SAIFY % Grel R0~ WalE, WIEE 8 [RHATSHEH |
Ans C.

I Which of the following countries has not cut ui‘f
the diplomatic ties with Qatar?
A. Saudi Arabia B. UAE

\ C. Bahrain D. Kuwait

T : mmmmmm@?ﬂmwﬁﬁﬂmi
GToTl - G wiFd, IRARA, YT SE wiare (UAE)
ﬁ‘ﬁ‘ﬂmmﬁml i i s L

Ans: D.

Bkl Which among the l‘nllumng has thE world’s

largest reserves of ‘uranium’?
A. Australia B. Canada

C. Russia D. USA

- - BTt e QP e S - SR THICS |
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Ans A -

Whn is the smartest'?

Sam is smarter than Jennie
Tina is less smart than Sam 1
Jennie is smarter than Tina
Connor is less smart than Tina

A. Sam B. Jennic
C. Tina D. Connor |
"!m‘ﬂT ‘Smarter to less smarter 0 |
) Sam-—}.}en ; '

AR _ 1) Sam'— Tma
111) Sam —:r Jen.: —} Tma
" ) Sam —> Jen — Tma — Connor.
Ans:'A, Y '
i Which one is respunsible for controlling price of
goods in Bangladesh?
A. Ministry of commerce B. Ministry of planning
C. Ministry of finance D. Ministry of home affairs
YL : AT THAETER SISOTT 2 FIED T, ST
ﬁfrl?lft,.ﬁ'-'n g maﬂrﬁawwmq mﬁmwmr%
I, Wl'ﬂmﬁﬁmcr&—f%u |
Ans: A, -
. Who prucla:med marhal law Myanmar?

A. Nc Un B. Wang
C. Aung Sun D. Xi Win
T bhmmﬁmmﬁﬁﬂﬁmﬂmmﬂﬁwm l
WW#WWWI SN .
Space X is-
A. a space exploration project
B. an aerospace manufacturer l

C. a space transport services cnmpany
D. both B and C

-qﬁﬁ%#mﬁﬁ-aﬁqﬁﬂ“&mmh“awﬁmﬁwﬁ
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Ans : D. ke




. Who led the political party that attained fhe | party that attained the “@T% SR R 1l ‘Eﬁﬁﬂﬁﬁi wizA"” feA e
majority in the general election in 1970 in mtqmﬁ iy (IrfResin Terof T |
erstwhile West Pakistan? 13 | ma%aﬁq A
A.Muhammad Ali Jinnah B. General Yahiya

l C. Zulfikar Ali Bhutto  D. Sheikh Mujibur Rahman ;i?f;ﬁ byl
I : o TN NS Aew wOw o a1 wemd | | v : -
i e - o vy e, g Et::;ﬂ::ltﬁ:;tgnal treaty gave the birth to the
|| o @ B STt et o nfewmm e FioEs #i1i ofew A. Treaty of Westphalia B. Maastricht Treaty
MR RGPt © I C. Treaty of Rome D. Treaty of Versaillies
|| = SR Pt =i oot fewem - it widh wet I : o ITRAT THOEH @fH 7w - > WA dvev (¢
Ans : C. A M6 d5eq RS A piea WMY) |
Whose work is The Night Watch? » fSB{FER 719 - European Economic Community (EEC).
A. Johannes Vermeer B. Rembrandt o FTANY 2TFAT AT FA |- Y ToIF (4 FFAR
C. Gilbert Stuart D. Gustav Klimt Sb2 TMHS §iEFa M |
|| D0 - GRS RIS T GRA RS werme/zmE @3 | | | anc .
Sre foafrit | o e Frerf The Night Watch sv83 m What was the sluganﬁthe French Revolution?
FITE A T | A. Liberty, Equality and Fraternity
Ans : B. B. Liberty, Equality and Legality
| m ‘Khodar Pathar Mound’ is located in- C. Liberty, Constitutionality and Legality
é ﬂabaﬁﬂmﬂgm} IB) gaharpur D. Liberty, Humanity and Fraternity
amaman . oonargaon
IR : AR TG 8 QRS 0 G (I9TH ez e bl mmbml

TRIYTIG) SRS SEIANY gH- @M “iRE 51 (Mound), o It Rt camt fier - et ol & Mg (Liberty,

Equality and Frat
21 01, e 91, =1 ST <1 31T 4efe | A‘;‘f hy and Frieenits)
AADS 3. A i The courts of Bangladesh have no ]lll'ISdlEi]l]Il over-
m If ‘dog’ is called ‘lion’, ‘lion’ is called ‘bison’, A The President B. The Prime Minister |

‘bison’ is called ‘snake’, ‘snake’ is called

, < { Ned ¢ it C The Chief of Army Staff D, The Chief Justice
‘mongoose’, ‘mongoose’ is called ‘crocodile’, a
' then which one is reared as pet? ARET Bor SATTTOR A AR R 1 |
A. Lion B.Bison C. Snake D.Mongoose "T@WWWWWW@WWW I
Gt : Dog is called lion e - Am A.
Dog is the only pet hare | | In a kilometer race, A beats B by 50 meters or 10
So. lion is the pet. | _ seconds. What time does A take to complete the race?
Ans : A, : N Ky 4. A A.200sec B.190sec C.210sec D, 150 sec
— : TM: R, A, tOnwS kmwm 1 -
A train running at the speed of 60 km/hr crosses a BTN o _ el i
pole in 9 seconds. What is the length of the train? ( ) G - FE
A. 120 metres B. 180 metres e, B t GTETS (1000 ~ 50)g 7 |
| C.324 metres D. 150 n'metl'gsﬁ_EF o1z, B, 10 cue@ a9 50 m
TN : T wiewy 39t @ g A, B e A | | | - L 50(t +10 ,
cﬁwﬁ‘@:%ﬂmﬁgwmmmu ~. B (t+ 10) G W (10 Jin =5(i+10)m e
, = = 60 km/h x 9s. | ' |
ek {,:; x;;gz ¥, 5(t+ 10)= 1000 m =:>t+ 10= IUUU
= 22 LI 9s,=150m '.
3600s . —5t+ 10 =200 = t = 190
Ans : D. ' Ans : B. &
ﬁThe next Non Alllgn Movement Summit will be Who among the following has scored first double
hosted in - century in Cricket World Cup? _
A.India B.Malaysia C. Azerbaijan D. Iran A. Sachin Tendulkar B. Martin Gulptlll
T AM) FTTTH 2055 T  STERAIRE) C. AB de Villiers D. Chris Gayle
m.}gﬂwm ) i NI : qw&%ﬁuﬂﬂﬁmﬁmfﬂmaﬁmﬁm
Who is famous for the earliest codification of law? | j:ﬁ?' *:; A = |
A. Julius Caesar B. Ha_mmurabl ns : .
C. Hugo Grotius D. Aristotle

e —————




HI} In which of the following fields Nobel Prize is

not given?
A. Mathematics B. Chemistry
C. Medicine D. Physics

TN : o IS o CFTT A “[rsia QTS o3l 28, Grate
TR~ XT3, *mid, 3w, WS, oo ¢ =@ |

o YRR (MM AWM oS T TN Svby T 933
wﬁﬁm-ﬂw oTHR 9N TA TW Shbh A |
Ans : A,
Whose work is Algebra of Infinite?

A. Salman Rushdi B. Chetan Bhagat

C. Shiv Kunal Verma D. Arundhuti Roy
[T : TFHS @7 TwHwiss 5 IR Linsteming to
Grasshoppers, War Talk, The end of Imagination, The
Algebra of Infinite, The God of small Things.
Ans : D.

- The first Indira Gandhi Award for Internahunal

Justice and harmony has been given to -
A. Larry Pressler  B. Amnesty International
C. Yasser Arafat  D. Hussain Ibrahim Zaki

YT = o 3N ME FIR MBS i T4 Ll
o AfSfES y5br T |
° 2 FTFS T - A SIRTFTSTS |
Ans : C.
Guantanamo Bay Prison is located in -

A. USA B. Chili C. Cuba D. Granada

[P : e uﬂﬁlﬂﬂﬂwmﬂﬁmﬁamﬁm%
35 TR @ 2002 7= feh TN | |

o SREM - FFEIm Wi of e IR I |
Ans : C.
. Bangla Academy has recently pubhshed the
book written by Bangabandhu Sheikh Mujibur
Rahman which is entitled —
A. Ashamapto Atmojiboniee B. Karager Rojnamcha
C. Amar Dekha Bangladesh D. Eki Swadhinota
TG : & 059 TR 59 W6 TATH (1 Yorga T A0S AF
A “IAAER e IR0 2 3T |
o IS - I TIICE |
o FTFAY I - 1 A |
Ans : B.
Which organization is the lead agency for the
BIMSTEC DMEx-20 177
A. National Disaster Response Force
B. National Disaster Management Force
C. National Disaster Security Force
. D. National Disaster Rehabilitation Force

1t : o < BIMSTEC DME-2017 (Disater Managemmﬂ
Excereise-2017) Sftrs T s 204 (MES) |

o %{f5F 3@ - National Disaster Response Force (NDRF).
Ans : A,
Gross National product (GNP) measures -
A. income earned by houscholds

B. the income received by households plus

C. the economic welfare of a nation
D. the final output of goods and services produced

In an economy

: « GNP - Gross national product.
® Th-: total value of goods produced and services
provided by a country during one year, equal to the
gross demestic product plus the net income from
goreign investments.
Ans : D.

il Which of the following is called the 'casting vote'?
A. Speakers vote B. Chief whip’s vote

C. Prime Minister’s vote D. President’s vote
TGt : @ HH FF0L b TR - PP o |
o AW “GEifd @w” I "FT Q¥ mﬁ-ﬁﬁﬁrﬁﬁrﬂw
ﬁmmﬁw:?nl
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Ans : A.

Which of the following is not an autonomous
community in Spain?

A. LaRijoa B. Madrnd
C. Catalonia D. Canary Islands
Yt : » ‘St (Catalonia) & ’Iﬁ CTTR Yo

’zm\?nﬁ— e I APAWIER G fo | -
. QG}HWQHWC’“’HW e ’menﬂﬁ‘
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Ans : C. 23 (I3 '
I Which of the fu]]umng words cannot be formed
with the word MERETRICIOUS?
A. MERIT B. VICIOUS C. METER D. RETRO
Tt : 1) MERETRICIOUS =3"MER T I — MERIT
ii) MERITRI CIOQUS = .VICIOUS — “V’ missing
iii) MERETRICIOUS.— MERET - METER
iv) MERETRICIQUS —> RETR o) —} RETRO

Ans: B.
m Nonverbal reasumng
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A B C D

A — black surrounded by 3 ndges. '

! —> 4 black edges.

i b 1

—» black edges su'rmunded by 4 edges.




